1) TRADE THEORY

Question No. 1/ Question ID 249 Marks: 2.00
What is the name of the diagram as shown in the figura?

Forr ey e S a1 A 1 22
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(A) O Wiring diagram {Chosan Oplion)
{Chosen Option)
(B} O Installation plan {Correct Alternative)
TUTTT g (Correct Alternative)
(C) O Layout plan
aamae
(D) 3 Schematic diagram
AeTES SNE

Question Mo. 2 / Question ID 353 Marks: 2.00
What is the reason for the moving coil meter having uniform scale’?

el Fad! Hied & UH T T U 8 1 a0 SR 22

(&) (7 Deflecting torgue is inversely proportional to the square of the current

frarer el wRl & ol & sgeparordt 8
(B) O Deflecting lorque is inversely proportional to the current {Chosen Option)
FEgUf 4R F FEFHFIR! & (Chosen Option)
(C) O Deflecting torque is directly proportional to the current (Correct Alternative)
YRT & IUIF & (Correct Alternative)
(D) O Deflecting torque is directly proportional to the square of the current
Femgol U & T &




Question No. 3/ Question ID 326 Marks: 2.00
What is the name of the light as shown in the figure?
fors 9 Ty 1o T &1 A 7

Z Z
N

(A) O Bulk light
g e

(B} O Flood light {Chosen Option)
T8 TEe (Chosean Option)
(C) O Flash light
Ed
(D) & Spot light (Correct Alternative)
e ST (Correct Alternative)

Question No. 4/ Question ID 193 Marks: 2.00
What is the total power by two wattmeter (W4 & W) method, if one of the wattmeter (W) reading is taken
after reversing?
aTeHteT (Wy & Wo) Rt gro e wife s 2, of? aredier (w,) & 9 vs &1 wienls gee @ o w22
(A} O W, only (Chosen Option)
FdT W, (Chosen Option)
B Wyx2
W-I X2
(C) O Wy - W, (Correct Alternative)
W, - Ws (Correct Alternative)
(DO Wy +Ws
W, + Wy

Question No. 5/ Question ID 19 Marks: 2.00
Which is the correct sequence of operation to be performed while using the fire extinguisher?
ffrmes o= w1 UO ST WG S | ST B0 U] S iR
(A} O Pull, Aim, Sweep, Squeeze (Chosen Option)

a1, I @, gEE1L E4@H1 (Chosen Option)
(B) 3 Push, Arrange, Sweep, Sequence
(C) O Pull, Aim, Squeeze, Sweep (Correct Alternative)
AT, @411, gHIAT (Correct Alternative)
(D) (» Push, Arrange, Squeeze, Sweep

Question No. 6/ Question 1D 224 Marks: 2.00

Which instrument is used to measure the specific gravity of electrolyte in lead acid battery?
e s Aot @ Rfty vw e g 9 @ Suem # wdim e e iy
(A) O Anemo meter

(B) () High rate discharge tester {Chosan Oplion)
I g¥ PRI #%6T (Chosen Option)




(C) (O Baromeler
iR

(D) Hydrometer (Correct Alternative)
(Correct Alternative)

Question No. 7 / Question ID 28 Marks: 2.00
What is the possible range to measure the size of the wire in a Standard Wire Gauge (SWG)?
TS 1% 716 (SWG) H R & ST H1 A 31 huifda g am e
(A) O 0-38

0-38
(B) O 0-36 (Correct Alternative) (Chosen Option)
0-36 (Correct Alternative) (Chosen Oplion)

(C) O 0-44
=44

(0} 042
0-42

Question No. 8 / Question 1D 84 Marks: 2.00
What is the value of resistance of an open circuit?

UF ol Gidhe 3 ufeRty &1 7 w87
(A} O Medium
st

(B) O Low
&0
(C) O Zero

S
)0 Inﬁnity (Correct Alternative) (Chosen Oplion)

d (Correct Alternative) (Chosen Option)

Question No, 9 / Question ID 307 Marks: 2.00
What is the minimum cross- sectional area of copper conductor for flexible cord as per BIS?

BIS & MR 75 @S & fo0 iR Heact & ~IAaH HIg-Hawre & &1 87
(A} O 1.5 mm?
2.5 mm®
BYO 1 mm?
1.5 mm?®
€10 0.5 mm? (Correct Alternative) (Chosen Option)
1 mm? (Correct Alternative) (Chosen Option)

(DY 2.5 mme
2.5 mm?

Question No. 10/ Question 1D 290 Marks: 2.00
What is the name of the wiring diagram?

arafia sy &1 &1 9 27




(A) O Staircase wiring (Correct Alternative)
At araidT (Correct Alternative)

(B) O Godown wiring
Tirgre arafen

(C) 7 Hostel winng (Chosen Option)
gied /i (Chosen Option)

(D) O Tunnel wiring

T A

Question No. 11 / Question 1D 51 Marks: 2.00
What is the advantage of the stranded conductor over the solid conductor?
] £ 1 e o B o e B i e T T 22| |
(A) O Less voltage drop

& dlecd S0
(B) O More insulation resistance
HfereF TgeeH uiady
(2 Costis less
ANd FHE

(DY O More flexible [Correct Alternative) (Chosen Option)
3iftre aiten (Correct Alternative) (Chosen Option)

Question No. 12 / Question ID 150 Marks: 2.00
What is the formula to find the 3 phase reactive power (FPg) if the line voltage is 'V and line current is
7
ofe amg diee v, € 3R w1 wie 1 €, O 3 i ufafroefie ofds (pr) e FR SR ET 2
MO P =3V | Cost

Pr =3V | Cos8

B)O p . fiv, | Cosd

Ll
h

B,

43V |, CosB




(C) (D P =V I (Chasen Option)
P, = VI, (Chasen Option)

DO = JE'I,.’LILEJHE (Correct Alternative)

P = 3V, |, Sin8 [ (Correct Alternative)

Question No. 13/ Question 1D 358
Which factor is affected due to the loading effect on measuring instruments?
HIYA FUSHTU U TS WHIG i SR &1 91 S WqIfad g 87
(A) 0 High sensitivity
s
(B) T Low influence emor (Chosen Option)
FH WHE 3 (Chosen Option)
(C) O High influence error
I wMTE 3
(D) Low sensitivity (Correct Alternative)
T WdAHIEdl (Correct Alternative)

Question No. 14/ Question ID 24
Which factor changes the permeaability of a material?
DI W B [t ugTd & U & geodl 87
(A) & Diameter
=415 ]
(B) 0 Flux density (Correct Alternative)
T ¥9ed (Correct Alternative)
{C} (> Cross sectional area (Chosen Option)
S0 E (Chosen Option)
(D) O Length

Question No. 15/ Question ID 213

Which is used as an elecftrolyte in lead acid battery?
mmﬁﬂﬁwmﬁmmm%mh
(A)  Diluted sulphuric acid (Correct Alternative)

T TegfY® I (Correct Alternative)
(B} O Hydrochlone acid (Chosen Cption)

AT (Chosen Option)

(C) ) Ammonium chioride

mifEm

(D) ¢ Potassium hydroxide
arefarm

Question No. 16/ Question ID 141

Marks: 2.00

Marks: 2.00

Marks: 2.00

Marks: 2.00

Which is the correct exprassion of capacitance 'C' if the electric charge is Q' and the vollage is V7

ofz fagg s o aul dieea v 8, 9w o &1 wd sifisfda s @ e

(Correct Alternative)

Q
iy
C = -%.- (Correct Alternative)

Q (Chosen Option)
Q (Chosen Option)




DO c-
C

¥
Q
v
Q

Question No. 17 / Question 1D 429
Which transformer is used to measure high voltage?
I dieew 1+ & o R chawndy &1 gud G s g
(A) ) Potential transformers (Correct Alternative)
] (Correct Alternativa)
(B) O Cumrent transformers (Chosen Option)
LT TEWETHT (Chosen Option)
(C)} O lgnition transformers
ETAHTHY
(D) 3 Pulse transformers
L3

Question No. 18 / Question ID 46
What is the name of the soldering method as shown in the figure?

fera 9 g o wreafien fafi & =m = &7

Marks: 2.00

Marks: 2.00

i

(A) ) Soldering gun (Correct Alternative) (Chosan Option)
T (Correct Alternative) {Chosen Option)
(B} Oy Soldering with lame
& WY i
(C) T Soldering iron
Hiesfor smae

(D) Dip sofdering
fau diefim

Question No. 18/ Question 1D 167
What is the rated AC voltage for single phase domestic supply in India?
YRA 9 el et Wi ¥ g ac FRw A 7
(A O 110 V (Chosen Oplion)
110 V (Chosen Oplion)
(B) {3 415V
415 W
(C) O 440V
440 v

(D) O 240 V {Correct Alternative)
240 V (Correct Alternative)

Question No. 20 / Question ID 74
What is the formula to find the Electro Motive Force (EMF)?

Toige] Hifed m (EMF) T S &1 93 5101 87

Marks: 2.00

Marks: 2.00




(A) O EMF = Polential difference + voitage drop/2
EMF = Potential difference + voltage drop/2

(B) 3 EMF = Polential difference — voltage drop
EMF = Potenhal difference — voltage drop

(C) T EMF = Potential difference + voltage drop (Correct Alternative) (Chosan Oplion)
EMF = Potential difference + voltage drop (Correct Alternative) (Chosen Option)

(D) O EMF = Potential difference + 2 x voltage drop
EMF = Potential difference + 2 ¥ voltage drop

Question No. 21/ Question ID 161
Which formula is used to calculate the form factor (K;) in an AC circuit?

uHt withe ® BiH ey (K,) 3 T @ & o farw @ guai famm w82
(AY O . - Averagevalue

y = {Chosen Option)
Maximumvalue
o Averagevalue (Chosen Option)
f Maximumvalue
B) O k. - Average value
t " Effective value
_ Average value
T~ Effective value
(C)
Q@ Ke = Effective value | .o oct Alternative)

Average value

_ Effective value
f ~ ‘Average value

DY O Effective value
KT Maximum value

__ Effective value

f = Maximum value

{Correct Alternative)

Question No. 22 / Question ID 328
Which type of ighting system is used for flood and industrial lighting?

Marks: 2.00

Marks: 2.00

TS A i v srgwn & o ey v 91 Ut syER & Iunh fE aa g

(A) O Direct lighting {Correct Alternative)
W& UETE (Correct Alternative)
(B} O Semi-direct lighting
ef-uE W
{C) O Indirect lighting
HUEE T
(D) O Semi-indirect lighting (Chosen Option)
-HUHE WRET (Chosen Oplion)

Question No. 23/ Question ID 324
What is the main advanlage of coiled coil lamp?

drafer Fae U 1 TE T A a7

Marks: 2.00




(A} O Low operating voltage
FH W dlecal
(B) (3 High melling paint
EE-RIGEIC
{C) (3 Higher light output (Correct Alternative)
J=] U IW’TG (Correct Alternative)
(D) O Low power consumptlion (Chosen Option)
&1 faaett &t |oa (Chosen Option)

Question Mo, 24 | Question ID 400

Marks: 2.00

Which malerial is used as tje.al insulator in between the outer casing and inner tank of a geyser?
e & aTgd) SEw MR e dw & de I Au & wu d fFe gl @ auam o a g

(A} O Plastic
wfeE

(B) O Paper
e

(C) O Glass wool (Correct Alternative)
TdH & (Correct Alternative)
(D) O PVC (Chosen Option)
PVC (Chosen Option)

Question No. 25/ Question ID 151
What is the formula for the reactive power (P;) in an AC circuit?

AC e # ufafrarefta ofe (p) T gz Fm dr
(A O F=Vi
P.=VI
(B)™ P,=Vlcos8
P.=Vlcos8
(CIO P =2V
P, =2 VI
(DY O Pr=Vlsin @ {Correct Alternative) (Chosen Option)
P. = Vi sin 8 (Correct Alternative) (Chosen Cplion)

Question No. 26 / Question ID 25
Which is the golden hour for the victim injured on head with risk of dying?
i me 9ie v ol I & SifEm T Wifga & o e s sa o

(A} 3 First 60 minules
First 60 minutes

(B} (3 First 30 minutes (Correct Alternative)
First 30 minutes (Correct Alternative)
(C) O First 45 minutes (Chosen Option)
First 45 minutes (Chosen Option)

(D) O First 15 minutes
First 15 minutes

Question No. 27 / Question ID 413

Which cooling method is used in the pole mounting distribution transformer?
tte wrafe fawn siawni & w9 @ wfiaes & awdm fEm e g
(A) 3 Oil natural air blast

da wiplaw arg Rwere
(B) O Oil natural air natural (Correct Alternative)

B4 WIS (Correct Alternative)

(C) O OQil forced air forced

e afera g et

Marks: 2.00

Marks: 2.00

Marks: 2.00




(D) O Oil forced water forced (Chosen Oplion)
o9 |fer 9 &feid (Chosen Option)

Question No. 28 | Question ID 85 Marks: 2.00

Which resistor carries the lowest current in a parallel circuit having the values of 500, 2200, 4500 and

5600 if connected with the supply?

afg gl & Ty G357 81 @ S W SEEE 500, 2200, 4500 AR 5600 F T 910 THARR Wil § 9898

FH YN Waled Bl g7
(A} O 450 O (Chosen Option)
450 (1 (Chosen Option)
(B)O 504
50 Q
(C) O 560 Q) (Correct Alternative)
360 ) (Correct Alternative)

(D) 22001
220 (1

Question No. 29 / Question ID 39 Marks: 2.00
What is the purpose of the bedding insulation in the U.G. cable?
V.G, a1 48 SYEYH &1 Je%g 7 82
(A) O Protect armouring from atmospheric condition
& argHge Rl O 2=
(B) ; Protect the cable from moisture and gases
1 T8 U9 T | g
(C) Oy Protect the cable from mechanical injury

Fad 3 gitas afa @ =

(D) Protect the metallic sheath against corrosion (Cormect Alternative) (Chosen Option)
WA B GO H T (Correct Alternative) (Chosen Option)

Question No. 30 / Question ID 432 Marks: 2.00
What is the function of buchholz relay in power transformear?
TGt T H gl el @1 & & g7
(A) ¢ Protection from the oil pressure
 garg AfET & gqwan
(B} () Protection from the overloading and shert circuit {Correct Alternative) (Chosen Option)
1 31T T qlide %HEHT {Correct Alternative) (Chosen Option)
(C) O Protection from the low temperature
I TUHE ° G
(D} & Protection from the moisture in the oil

drer 3 ity et el R @ en

Question No. 31/ Question 1D 294 Marks: 2.00
What is the name of the circuit diagram?

wfthe AT &1 H T 22




(A) & Two lamps dim operation only (Chosen QOgplion)

?.;'FE {?’TE[ He HdIeH (Chosen Option)
(8) O Two lamps controlled by two switches

&1 o 21 e g Peifa

(C) 7 Two lamps controlled by one switch

U g gr1 ffEa 2 %ﬂ:l
™ One lamp bright and two lamp dim operation (Correct Alternative)

U A9 Iwgd AT S d9 Hg HITE (Correct Alternative)

(D)

Question No. 32 / Question ID 270 Marks: 2.00
What is the purpose of the ELCB?

ELCB &1 3299 #1127
(A)Y ) Protects the equipment from leakage current {Correct Alternative)
JUFH0 F e ®ee § 9911 ¢ (Correct Alternative)
(B) O Protects the equipment from over current
JUFHI Hi HE T Y TAM 8
(C) O Protects the equipment from over vollage (Chosen Option)
FUFE &1 MG dieed T T % (Chosen Oplion)
(D) T Protecis the eguipment from short circuit
JUHL01 1 Tic Hibe ¥ T@n 8

Question No. 33 / Question ID 118 Marks: 2.00
Which is the diamagnelic substance?
afcrgrEeta wer H1F W €2
(A) O Water (Correct Alternative)
witl (Correct Alternative)




(B} & Platinum (Chosen Option)
(Chosen Option)
(CY O Ar
CLE
(D) Steel
i

Question Mo, 34 /| Question ID 129 Marks: 2.00

Calculate the total power of the circuit of two lamps rated as 200W/240V are connected in series across
240V supply?

200W/240V Y2E Bl o0 & i &1 & ida & 10 &1, 9 240V ST9RT F SEen ¥ 9 gu g
(A) O 400 W (Chosen Option)
400 W (Chosen Option)
(B} O 50W
50 W
(C) O 100 W (Correct Alternative)
100 W (Correct Alternative)
Dy 200W
200 W

Question No. 35/ Question ID 215 Marks: 2.00
What is the purpose of the separator in lead acid battery?
e ufte aed | Ry H1 IR a2
(&) (3 To provide a path for electrolyte
frgga srawe 2 s WEH &l
(B) O To hold the positive and negalive plate firmly
YATHE T BT Wil & 3=F | UHS 161
(C) () To keep the positive and negative plate in a sequence array {Chosen Option)
YT 3R FUMEE e S IIFH Toi H 7@ (Chosen Option)
(D) O To avoid short circuit between the positive and negative plates (Correct Alternative)

ETETE HIY BUTHS Wel & 419 2 Hite 9 g9 & (917 (Correct Alternative)

Question No. 36 / Question ID 398 Marks: 2.00
Calculate the heat generated in a electric heater of 1000 watt, 240 volt, worked for 5 minutes.
1000 g, 240 diee F fagga diee & Sam i 91 o #3, diex A 5 e & o am T
(A) O T1.6 Kilo calories (Correct Alternative)

71.6 Kilo calories (Correct Alternative)
(B} & 71.0 Kilo calories

71.0 Kilo calories
(C) O 721 Kilo calories

72.1 Kilo calories
(D} & 70.5 Kilo calories {Chosen Option)

¥0.5 Kilo calories (Chosen Option)

Question No. 37 / Question 1D 253 Marks: 2.00
What is the name of the circuit as shown in the figure?

fora & gofu o wffe 1 Am F 22




(A) 3 Tunnel lighting wiring

AT HaTY A
(B} ) Corridor lighting wiring
TR WahTRT AT
{C) "y Staircase lighting wiring
gt wenrer arafin

(D) Godown lighting wiring (Correct Alternative) (Chosen Option)
MiETH Wy g (Correct Alternative) (Chosen Oplion)

Question No. 38 / Question ID 355
What is the namea of meter as shown in the figura?

RedfREn mwitcr s am s g

Marks: 2.00




LA I

LA ISR

(A) O AC multirange ammeter

AC Heelig udies

(B) & DC multirange voltmeter
DC et g‘eﬁzha

{C) 3y AC and DC multirange voltmeter (Correct Alternative)
AC ¥ DC T e (Correct Alternative)
(D) AC and DC multirange ammeter {Chosen Oplion)
AC 3 DC Aediéa THIER (Chosen Option)

2) WORKSHOP CALCULATION SCIENCE

Question No. 1/ Question ID 456
What is the side of a square whose area is 625mm=?

e gl @t gt @ gt et dme e2s fefie e
(A) O 20 mm
20 mm
(B) O 30 mm
30 mm
(C) O 25 mm (Correct Alternative) (Chosen Option)
25 mm (Correct Alternative) (Chosen Option)

(D} 15 mm
15 mm

Question No. 2 | Question 1D 444
What denotes letter "M" in MKS system?
MKS Tomelt e ser = aufa e

Marks: 2.00

Marks: 2.00




(A) O Meter (Correct Alternative) (Chosen Oplion)
Meter (Correct Alternative) (Chosen Option)

(B) & Mile
Mile

(C) O Micron
Micron

(D) O Millimeter
Millimeter

Question No. 3/ Question 1D 446
Converl decimal 0,0008659 to fraction?

0.000659 ST A &1 amurw firg & age?
(A O
(Chosen Option)

(Chogen Option)

B8) O

(€O

DYO
(Correct Alternative)

[(Correct Alternative)

Question No. 4 | Question ID 443
What are fundamental units?
T e seedl S-sd 82
(A} O Length, Mass, Time {(Correct Alternative)
Hard, TEHT, WHY (Correct Alternative)
(B} & Length, Mass, Volume
g, 7edAH, HAA
CYo th, Mass, Area (Chosen Option)
aﬁé ZOUHH, 8FFd (Chosen Option)
(D) 3 Length, Pressure, Volume

Im|w

Question No. 5 [ Question ID 453

What is the 5.1 unit of heat?

T @ U, ST 941 87

(A) & Calorie
Calorie

(B) ¢ Bntish thermal unit {Chosen Option )
British thermal unit (Chosen Option)

(C) O Joule (Correct Alternative)
Joule (Correct Alternative)

Marks: 2.00

Marks: 2.00

Marks: 2.00




(D) Centigrade heat unit
Centigrade heat unit

Question No. 6/ Question ID 459
Which is example for second order lever?
ety 2y dfiar &1 S99 IgETm 27
(A) O Human forearm
EYHH PR
iB) T Bottle opener (Correct Alternative)
f 3TTT (Correct Alternative)
(C) (O A pair of scissors
Hrerd @ T U
(D) & Common balance (Chosen Option)

FIHA 9 (Chosen Option)

3) ENGINEERING DRAWING

Question No. 1/ Question ID 463
Identify the conventional symbaol of material?

fera o femm o wnlt & uriofve udts &1 g e

(A) O Wood (Correct Alternative)
51 (Gorrect Alternative)
{B) O Paper
EAE
(C) O Gl.aﬁi-‘. {Chosan Option)
&g (Chosen Option)
(D) Lead

S

Question Mo, 2 / Question |D 485

Identify the correct aligned system dimension?

Tt Tifaa fawe smam 1 uge T4

Marks: 2.00

Marks: 2.00

Marks: 2.00




(A) C

(B) ¢

(C) O




D)o

[(Correct Alternative) (Chosen Option)

[(Correct Alternative) (Chosen Option)

Question No. 3 / Question ID 479 Marks: 2.00
Which dimension corre tg_—[rnarked in the circle as per standard?
A& & HTER T H &4 W TH 981 20 4 ffgd 87
(AY O

(B) O




(€)o

(Chosen Option)

(Chosen Dption)

(0 C

(Correct Alternative)

(Correct Alternative)

Question Mo, 4 | Question 1D 470
Identify the conventional symbol of material?

U & YIS Udle &) g7

Marks: 2.00




(A) O Glass (Chosen Optlion)
@i (Chosen Option)

(B) & Stesl
Bt
(C) & Wood
AFal

(D) O Concrete (Correct Alternative)
GIEl {Correct Alternative)

Question No, 5/ Question ID 466
Compass used to draw for .
FIME H IUGN @1 51 & & o fa e e,
(A) O circle [Correct Alternative) (Chosen Option)
7 (Correct Alternative) (Chosen Option)
(B) O triangle

(S} square
ol

(D) O rectangle
HIET

Question No. 6/ Question ID 468
Identify the conventional symbol of material?

ol & grgfiE UdiE & UgEHT?

Marks: 2.00

Marks: 2.00




(A) & Steel (Correct Alternative) (Chosen Cplion)
Tl d (Correct Alternative) (Chosen Option)

(B) ) Lead
S
(C) O Porcelain
A e
™ Glass

YO
&g

) EMPLOYABILITY SKILLS

Question No. 1/ Question ID 618 Marks: 2.00
A software application used to enable computer users to locate and access web page is called

' IUaTTEA S 39 U Wi 3N TeE A § 9am 9 & o auam e 9 g v giedm
......... TR |
(A} O email

(B} T web sarver
9 Wil

(C) ) website
CLESIET

(D) O web browser (Correct Alternative) (Chosen Option)
dd FIIWH (Correct Alternative) (Chosen Option)

Question No. 2/ Question ID 573 Marks: 2.00
Gesture “Brisk and erect walking” shows

et I H ST AT BIEMIE, . BRI R -

(A) ) insecurity
(B) 7 defensiveness

(C) ™y confidence (Correct Alternative) (Chosen Option)
&ﬂﬁ?ﬁﬁ'ﬁﬁ [Commect Alternative) (Chosen Oplion)




(D) & boredom
dNEH

Question No. 3 / Question ID 510 Marks: 2.00
Fill in the blank with correct fulure lense of verb, “We lo the zoo afler Breakfast ®
fora & wEt wifaw #1e & Ay fie =IF W3 We ko the zoo after Breakfast "

(A) O went
Wit

(B) O are going
are going

(C) O will go (Correct Alternative) (Chosen Oplion)
will go (Correct Alternative) (Chosen Option)

(D) ) had gone
had gone

Question No. 4 / Question 1D 544 Marks: 2.00
I am a welder. | work with

Hus e §1 1 el T BT |
(A} O nail polish
A aifes

(B) O welding tools (Correct Alternative) (Chosen Gplion)
U@ (Correct Alternative) (Chosen Option)

{C) ) laptops
auer

(D) robols
e

Question No. 57 Question ID 490 Marks: 2.00
Ethics means
@ E el g
(A) 7 employability skills
TR ST

(B} O not refevant lo society
LEIER
(C) O decide what is right and wrong for a human conduct (Correct Alternative)
g Y i g amawor % e o |t @ o =91 e (Correct Alternative)
(D) & name of a city (Chosen Optfion)
T ¥gY o1 AH (Chosen Option)

Question No. 6 / Question ID 541 Marks: 2.00
Which one of the following is a describing word?
P A § T 1 s AT 1T 3
(A) & eat

AT E
(B} O soup (Chosen Option)
(Chosen Option)
(C} 3 repair
HIEd
(D) ¢ hot (Correct Alternative)
TH (Correct Alternative)

Question Mo. 7/ Question ID 676 Marks: 2.00
The expansion of GOP is
GOPHFIRAET ... |




(A} O Giant Domestic Product
Giant Domestic Product

(B)  Gross Domestic Product (Correct Alternative)
Gross Domestic Product (Correct Alternative)
(€} & Grand Demand Product {(Chosen Oplion)
Grand Demand Product {Chosen Option)

(D) O Godown Demand Product
Godown Demand Product

Question No. & / Question 1D 532
Which one is in passive voice?
Aferg A FR W e?

(A) O I have sean that movie.
| have saen that movie,

(B) O Her birthday was celebrated by us. (Correct Alternative)
Her birthday was celebrated by us. (Correct Alternative)

(C) ) She was reading a book. (Chosen Oplion)
She was reading a book. (Chosan Option)
(D) 3 Mohan is painting a house.
Mohan is painting a house.

Question No. 9/ Question ID 587
Which one is a good communication?
&I | U 3] UaR 87
(A O Messaga is clear and direct (Correct Alternative) (Chosen Option)
T \IH 3T T BT (Correct Alternative) (Chosen Option)
(B} 1 Sender attacks receiver
&1 faftar W gqe S
{C) Oy Message is ambiguous
w2 1 Sy g
(D) O Receiver doesn’l listen to sender

U9 F1 a1 g

Question No. 10/ Question ID 604
Gender stereotypes can be

foin wRaRa g g ......... |

(A) 7 harmful and hurtful {(Correct Alternative)
T gEET@ (Correct Alternative)

(B) O playful
e

(C) O cheerful
g1
(D) O personality development (Chosan Option)
(Chosen Option)

Question No. 11 f Question 1D 496
1st industrial revolution started in
Hifd B WHHT ...,

(A) & 20th century
20 df

(B} {3 18th century {Correct Alternative)
18 df WE! (Correct Alternative)

(C) O 19th century (Chosen Oplion)
19 91 &Y (Chosen Option)

Marks: 2.00

Marks: 2.00

Marks: 2.00

Marks: 2.00




(D) O 21sl century

21 4 5l
Question No. 12/ Question ID 575 Marks: 2.00
In face to face communication, body language accounts for
HTHA-TTHA & TaR |, EIE]|
(A) O 100%
100%

(B) 3 38% (Chosen Option)
38% (Chosen Oplion)

(C) ) 55% (Correct Alternative)
35% (Correct Alternative)

)OO 7%
7%

Question No. 13/ Question ID 585 Marks: 2.00

Which one is a barrier to speaking?

S T A & STed 87

(A} O Reluctant to read ({Chosen Option)
Qﬁﬂ Gﬁﬂ}'ﬂ? {Chosen Option)

(B) & Poor listening
Bl T g A &

(C) T Lack of time
wHY P HH

(D) ) MNervousness (Correct Alternative)
HETEC (Correct Alternative)

Question No. 14 / Question 1D 638 Marks: 2.00
What is a shortcut key for “cut” command?
e HHS & oG Ueb Yicee B (ol T 87
(A) © Cirl + C (Chosen Option)
Cirl + C (Chosen Oplian)

(B) ) Cirl+V
Ciri+V

(C) o Cirl+A
Ctrl + A

(D) O Ctrl + X (Correct Alternative)
Ctrl + X (Correct Alternative)

Question No. 15/ Question 1D 694 Marks: 2.00
What actions should be taken after getting to know customer suggestions/problems?

T & YA &1 W & 918 99 FHa 1w i
(A) O Ask, Act, Categorize
o, sftfrm, wiiga 3

(B) O Ask, Solve (Chosen Oplion)

. B & (Chosen Option)
(C)  Ask, Followup

, letag
(D) O Ask, Categorize, Act, Followup (Correct Alternative)

i, Tffera w4, aftuffay, sree #8arg (Correct Alternative)

Question No. 16 / Question 1D 646 Marks: 2.00
Which one is a "Don't” of information security?

T A 1 B AR S




(A} 3 Encrypt laptop hard drive and mobile devices
an%. 218 2129 au Hrargs Jusl @ uEee S
(B) O Disclose password to anyone (Correct Alternative)
fart &1 oft urwad garn {Correct Alternative)
c Take backup data of your PC periodicall
O m-mur; amﬁtﬂgﬂ?mﬁmpa?uéa%
(D) 3 Use hard to guess passwords (Chosen Oplion)

TS F SEE T % B i s S (Chosen Option)

Question No. 17 | Question ID 698
Which of the following websites are not popular for finding jobs?

frafafn & & @ A dewmge Aiwd diew & defia = 87

(A} ) Sheroes.com
Sheroes.com

(B) & Twitter.com (Correct Alternative)
Twitter.com (Correct Alternative)

(C) O Linkedin.com
LinkedIn.com

(D) O MNaukri.com (Chosen Oplion)
Maukri.com (Chosen Option)

Question No. 18 /| Question 1D 652
Which one is an input device?
I 0@ FYE FeaEd 87
(A) 3 Printer
e

(B} O Monitar
HifTEy

(C) 7 Speaker
witde

D) O ngstit:k {Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)

Question No. 19/ Question ID 487
The ability to do is
-t r ok T
(A} O Experience
HTHA
(B) O Job (Correct Alternative) (Chosen Option)
®TH (Correct Alternative) (Chosen Dption)
(C) O Knowledge
EE
(D) ¢y Skill
I

Question No. 20/ Question ID 6§32
The expansion of LAN is
"LAN" F1 FEm 2 -
(A) O Local Area Name
Local Area Name

(B) O Local Area Network (Correct Alternative)
Local Arega Network (Correct Alternative)

{C) O Logical Area Network (Chosen Option)
Logical Area Network (Chosen Option)

Marks: 2.00

Marks: 2.00

Marks: 2.00

Marks: 2.00




(D) Legal Area Network
Legal Area Network

Question No. 21 / Question 1D 560 Marks: 2.00
Which of these is the full form of SWOT?
7 & @ swoT @1 of =u g7
(A} O Strong World Olymplc Team {Chosen Option)
Strong World Olympic Team (Chosen Option)
(B) O Strength Weakness Opportunity Threat (Correct Alternative)
Strength Weakness Opportunity Threat (Correct Alternative)
(C) O Speak Work Openly Together
Speak Work Openly Together

(D) O Special Weliness Organization Theme
Special Weliness Organization Theme

Cuestion No. 22 | Question 1D 547 Marks: 2.00
Rahul enjoys with his pet dog.
TEAF NUATELFAF TN AT A
(A) O washing
(B} () writing
fora

(C) 3 playing (Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)
(D) © doing
CIE]

Guestion No. 23/ Question 1D 664 Marks: 2.00
Which amm\g the following is not an Online payment application?
FfafEn o ¥ 1 0F AiTas YTaH Ee T8 87
(A} O Banking Applications
I |

(B} O3 Instagram {Correct Alternative) (Chosen Option)
EEETAIH (Correct Alternative) (Chosen Option)
(C) O Google Pay
TR
(D) BHIM UPI
BHIM UPI

Question No. 24 | Question 1D 609 Marks: 2.00
The way monay is saved, spent and invested

Fore o & O T o &, T T o & S o e e R

(A} O financial literacy (Correct Alternative) (Chosen Option)
HIGEAT (Correct Alternative) (Chosen Option)

(B) () banking
GG )

(C) O salary
EGL

(D) income
HH

Question No. 25 / Question ID 668 Marks: 2.00
Entrepreneurship is also termed as

TEE sft w1 T




(A) O self employment (Correct Alternative)
¥ T (Correct Alternative)

(B} O investor
EEHES

(CrO amglnyar

(D) 3 employment seeker (Chosen Option)
e 9T (Chosen Option)

Rave & Prinl




